Journal of Mathematics and Informatics Vol. 11, 2017, 103-109 ISSN: 2349-0632 (P), 2349-0640 (online) Published 11 December 2017 www.researchmathsci.org DOI: http://dx.doi.org/10.22457/jmi.v11a13

## Journal of **Mathematics and** Informatics

# A Ternary Quadratic Diophantine Equation $x^2+y^2=65z^2$

## P.Sasipriya and A. Kavitha

Department of Mathematics, Shrimati Indira Gandhi College Tiruchirapalli, Tamilnadu, India. 620002 e-mail: spmani1987@gmail.com

Received 3 November 2017; accepted 9 December 2017

Abstract. The Quadratic Diophantine equation with three unknowns represented by  $x^{2} + y^{2} = 65z^{2}$  is analyzed for finding its non-zero distinct integral solutions. Different patterns of solutions of the equation under consideration are obtained. A few interesting properties among the solutions are presented.

Keywords: Ternary quadratic equation with three unknowns, integral solutions, polygonal numbers, and pyramidal numbers.

## AMS Mathematics Subject Classification (2010): 11D09

#### **1. Introduction**

The quadratic Diophantine equation with three unknowns offers an unlimited field for research because of their variety [1-3]. In particular, one may refer [4-16] for quadratic equations with three unknowns. This communication concerns with yet another interesting equation  $x^2 + y^2 = 65z^2$  representing homogeneous quadratic Diophantine equation with three unknowns for determining its infinitely many non-zero integral solutions. A few interesting properties among its solutions are given. Also, formulas for generating sequences of integer solutions based on its given solution are presented.

#### 2. Notation

1.  $T_{m,n} = n \left[ 1 + \frac{(n-1)(m-2)}{2} \right]$  - Polygonal Number of Rank *n* with side *m*. 2 T = n(n+1)

2. 
$$I_{3,n} = \frac{1}{2}$$

$$3. \quad PR_n = n(n+1)$$

4.  $Cp_{n,6} = n^3$ 

5. 
$$T_{4,n} = n^2$$

6.  $T_{8n} = 3n^2 - 2n$ 

- Triangular Number of Rank n.
- Pronic Number of Rank n.
  - Centered Hexagonal Pyramidal Number of Rank n.
- Square Number of Rank n.
- Octogonal number of Rank n.

## P. Sasipriya and A. Kavitha

#### 3. Method of analysis

The ternary quadratic Diophantine equation to be solved for its non-zero distinct integral solution is

$$x^2 + y^2 = 65z^2 \tag{1}$$

Different patterns of solution of (1) are presented below.

## **3.1. PATTERN-1**

Write 65 as  

$$65 = (8+i)(8-i)$$
 (2)

Assume 
$$z = a^2 + b^2$$
 (3)

Where a, b are non-zero distinct integers.

Using (2) and (3) in (1) we get  

$$x^{2} + y^{2} = (8+i)(8-i)(a^{2} + b^{2})^{2}$$
Employing the method of factorization the above equation is written as  

$$(x+iy)(x-iy) = (8+i)(8-i)(a+ib)^{2}(a-ib)^{2}$$
Equating the positive and negative factors we get,  

$$x+iy = (8+i)(a+ib)^{2}$$
(4)  

$$x-iy = (8-i)(a-ib)^{2}$$
Equating the real and imaginary part either in (4) or (5) we get  
(5)

 $x(a,b) = 8a^{2} - 8b^{2} - 2ab$  $y(a,b) = a^{2} - b^{2} + 16ab$ 

(6)

(7)

$$y(a,b) = a^{2} - b^{2} + 10ab^{2}$$
  
Thus (6) and (3) represents non-zero distinct integral solutions of (1)

## **Properties :**

1. 
$$x(n,1) - t_{18,n} - 10t_{3,n} + 5t_{4,n} + 8 = 0$$
  
2.  $y(n,2) + z(n,2) - 2t_{4,n} \equiv 0 \pmod{2}$ 

## **3.2. PATTERN - 2**

Write 65 as 65 = (7 + 4i)(7 - 4i)

Where a, b are non-zero distinct integers,

Using (7) and (3) in (1) we get  
$$u^{2} + u^{2} = (7 + 4)(7 - 4)(x^{2} + b^{2})^{2}$$

$$x^{2} + y^{2} = (7 + 4i)(7 - 4i)(a^{2} + b^{2})$$
  
Employing the method of factorization the above equation is written as  

$$(x + iy)(x - iy) = (7 + 4i)(7 - 4i)(a + ib)^{2}(a - ib)^{2}$$
  
Equating the positive and negative factors we get,  

$$x + iy = (7 + 4i)(a + ib)^{2}$$
(8)

A Ternary Quadratic Diophantine Equation  $x^2+y^2=65z^2$ 

$$x - iy = (7 - 4i)(a - ib)^2$$
(9)

Equating the real and imaginary part either in (8) or (9) we get,

$$x(a,b) = 7a^{2} - 7b^{2} - 8ab$$

$$y(a,b) = 4a^{2} - 4b^{2} + 14ab$$
(10)
Thus (10) and (3) represents non-zero distinct integral solutions of (1)

**Properties** :

1.  $x(n,n) + 8t_{4,n} = 0$ 2.  $y(n,1) + 4z(n,1) + 6t_{4,n} - 14PR_n = 0$ 3.  $x(n,1) - y(n,1) - t_{8,n} = 17 \pmod{20}$ 

#### **3.3. PATTERN -3**

(1)can be written in the form of ratio as

$$\frac{x+8z}{z+y} = \frac{z-y}{x-8z} = \frac{\alpha}{\beta}, \beta \neq 0$$
(11)

(11) is equivalent to the system of double equations

$$\beta x - \alpha y + (8\beta - \alpha)z = 0$$

$$\alpha x + \beta y - (8\alpha + \beta)z = 0$$
(12)

Solving (12) by applying the method of cross multiplication, the corresponding non-zero distinct integral solutions to (1) are obtained by

$$x(\alpha, \beta) = 8\alpha^{2} - 8\beta^{2} + 2\alpha\beta$$
$$y(\alpha, \beta) = -\alpha^{2} + \beta^{2} + 16\alpha\beta$$
$$z(\alpha, \beta) = \alpha^{2} + \beta^{2}$$

#### **Properties :**

1.  $x(n,1) - 8t_{4,n} + 8 \equiv 0 \pmod{2}$ 2.  $y(n,1) + z(n,1) - 16PR_n + 16t_{4,n}$  is even number 3.  $x(n,1) + 8z(n,1) - 16t_{4,n} \equiv 0 \pmod{2}$ 

Remark: In addition to (11), (1) may also be expressed in the form ratio as

$$\frac{x+7z}{4z+y} = \frac{4z-y}{x-7z} = \frac{\alpha}{\beta}, \ \beta \neq 0$$

Following the procedure as presented above the corresponding non-zero distinct integral solutions to (1) is given by

$$x(\alpha, \beta) = 7\alpha^{2} - 7\beta^{2} + 8\alpha\beta$$
$$y(\alpha, \beta) = -4\alpha^{2} + 4\beta^{2} + 14\alpha\beta$$
$$z(\alpha, \beta) = \alpha^{2} + \beta^{2}$$

P. Sasipriya and A. Kavitha

#### **Properties :**

 $1. x(n,2) + 7z(n,2) - 14PR_n \equiv 0 \pmod{2}$   $2. x(n,2) + y(n,2) - 3t_{4,n} \equiv 32 \pmod{44}$  $3. y(1,n) + 4z(1,n) - 8PR_n \equiv 0 \pmod{2}$ 

#### **3.4. PATTERN-4**

Introducing the linear transformations, x = 3u + v, y = u - 3v, z = 2w(13)In (1) it is written as  $u^2 + v^2 = 26w^2$  (14) Assume  $w = a^2 + b^2$  (15) Write as 26 = (5 + i)(5 - i) (16) Substituting (15) and (16) in (14) we get,

$$(u+iv)(u-iv) = (5+i)(5-i)(a+ib)^{2}(a-ib)^{2}$$
  
Equating the positive and negative parts we get,  
$$u+iv = (5+i)(a+ib)^{2}$$
(17)  
$$u-iv = (5-i)(a-ib)^{2}$$
(18)

Equating the real and imaginary parts either in (17) and (18) we get,

$$u = 5a^{2} - 5b^{2} - 2ab$$

$$v = a^{2} - b^{2} + 10ab$$
(19)

Substituting (19) and (16) in (14) the corresponding non-zero integral solution to (1) are given by

$$x(a,b) = 16a^{2} - 16b^{2} + 4ab$$
  

$$y(a,b) = 2a^{2} - 2b^{2} - 32ab$$
  

$$z(a,b) = 2a^{2} + 2b^{2}$$

#### **Properties :**

1.  $y(n,1) + z(n,1) - 4t_{4,n} \equiv 0 \pmod{2}$ 2.  $x(n,1) - 16t_{4,n} \equiv 0 \pmod{4}$ 3.  $x(n,2) + 8z(n,2) - 32PR_n \equiv 0 \pmod{2}$ 

### 4. Generation of solutions

In this section, we obtain general formula for generating sequences of integer solutions to (1) based on its initial solution.

**Formula 1.** Let  $(x_0, y_0, z_0)$  be the initial solution to (1) Let  $x_1 = x_0 + 8h$ ,  $y_1 = y_0$ ,  $z_1 = h - z_0$  (20) be the first solution to (1), where h is the non-zero integer to be determined. Substituting (20) in (1) and simplifying, we get A Ternary Quadratic Diophantine Equation  $x^2+y^2=65z^2$ 

$$h = 130z_0 + 16x_0$$
 (21)

Therefore,  $x_1 = 129x_0 + 1040z_0$ ,  $z_1 = 16x_0 + 129z_0$ , Expressing the above equations in the matrix form, we have

$$\begin{pmatrix} x_1 \\ z_1 \end{pmatrix} = M \begin{pmatrix} x_0 \\ z_0 \end{pmatrix}$$
, where  $M = \begin{pmatrix} 129 & 1040 \\ 16 & 129 \end{pmatrix}$ 

Repeating the above process, the general values of x and z are given by

$$\begin{pmatrix} x_n \\ z_n \end{pmatrix} = M^n \begin{pmatrix} x_0 \\ z_0 \end{pmatrix}$$

We know that,

$$M^{n} = \frac{\alpha^{n}}{(\alpha - \beta)} (M - \beta I) + \frac{\beta^{n}}{(\beta - \alpha)} (M - \alpha I)$$

where  $\alpha$  and  $\beta$  are the eigen values of M and I is the unit matrix of order two. For our problem,

$$\alpha = 129 + 16\sqrt{65}$$
 and  $\beta = 129 - 16\sqrt{65}$   
Therefore,

$$M^{n} = \frac{1}{32\sqrt{65}} \begin{pmatrix} 16\sqrt{65}Y_{n} & 1040X_{n} \\ 16X_{n} & 16\sqrt{65}Y_{n} \end{pmatrix}$$

where  $Y_n = \alpha^n + \beta^n$ 

$$X_n = \alpha^n - \beta^n$$

Thus, the general solution to (1) based on its initial solution is

$$x_n = \frac{1}{32\sqrt{65}} [16\sqrt{65}Y_n x_0 + 1040X_n z_0]$$
  

$$y_n = y_0$$
  

$$z_n = \frac{1}{32\sqrt{65}} [16X_n x_0 + 16\sqrt{65}Y_n z_0]$$

## Formula 2

Let  $x_1 = 7x_0 - h$ ,  $y_1 = 4y_0 - h$ ,  $z_1 = z_0$ 

be the first set of solution to(1). Following the procedure presented above, the corresponding general solution to (1) is given by  $1 \int \frac{1}{1 + 1} dx$ 

$$x_{n} = \frac{1}{4\sqrt{7}} \left[ 2\sqrt{7}Y_{n}x_{0} - 4X_{n}y_{0} \right]$$

$$y_{n} = \frac{1}{4\sqrt{7}} \left[ -7X_{n}x_{0} + 2\sqrt{7}Y_{n}y_{0} \right]$$

$$z_{n} = z_{0}$$
where  $Y_{n} = \left( 2\sqrt{7} \right)^{n} + \left( -2\sqrt{7} \right)^{n}$ 

$$X_{n} = \left( 2\sqrt{7} \right)^{n} - \left( -2\sqrt{7} \right)^{n}$$

### P. Sasipriya and A. Kavitha

## Formula 3

Let  $x_1 = x_0$ ,  $y_1 = y_0 - 8h$ ,  $z_1 = z_0 - h$  be the first set of solution to (1). Following the procedure presented above the corresponding general solution to (1) is given by  $x_n = x_0$ 

$$y_{n} = \frac{1}{32\sqrt{65}} \left[ 16\sqrt{65}Y_{n}y_{0} - 1040X_{n}z_{0} \right]$$
$$z_{n} = \frac{1}{32\sqrt{65}} \left[ 16X_{n}y_{0} + 258 + 16\sqrt{65}Y_{n}z_{0} \right]$$

where  $Y_n = \alpha^n + \beta^n, X_n = \alpha^n - \beta^n$ 

#### 5. Conclusion

In this paper, we have made an attempt to obtain infinitely many non-zero distinct integer solutions to the equation given by  $x^2 + y^2 = 65z^2$ . As ternary quadratic equations are rich in variety, one may search for the other choice of ternary quadratic Diophantine equations and determine their integer solutions along with suitable properties.

#### **REFERENCES:**

- 1. R.D.Carmichhheal, *The Theory of Numbers and Diophantine Analysis*, Dover Publications, New York, (1959).
- 2. L.J.Mordell, *Diophantine equations*, Academic Press, New York, (1970)
- 3. L.E.Dickson, *History of theory of numbers and Diophantine analysis*, Vol.2, Dove Publication, New York (2005).
- 4. M.A.Gopalan and D.Geetha, Lattice points on the Hyperboloid of two sheets  $x^2 6xy + y^2 + 6x 2y + 5 = z^2 + 4$ , *Impact J .Sci. Tech.*, 4 (2010) 23-32.
- 5. M.A.Gopalan, S.Vidhayalakshmi and A.Kavitha, Integral points on the homogeneous cone  $z^2 = 2x^2 7y^2$ , *The Diophantus J. Math.*, 1(2) (2012) 127-136.
- 6. M.A.Gopalan, S.Vidhyalakshmi and S.Mallika, Observation on the Hyperboloid of two sheets  $x^2 + 2y^2 z^2 = 2$ , *Diophantus J. Math.*, 2(3) (2012) 221-226.
- 7. M.A.Gopalan, S.Vidhyalakshmi, T.R.Usha Rani and S.Mallika, Integeral points on the homogeneous cone  $6z^2 + 3y^2 2x^2 = 0$ , *Impact J. Sci. Tech.*, 6(1) (2012) 7-13.
- 8. M.A.Gopalan, S.Vidhyalakshmi and T.R.Usha Rani, Integral points on the non-homogeneous cone  $2z^2 + 4xy + 8x 4z = 0$ , *Global journal of Mathematics and Mathematical Sciences*, 2(1) (2012) 61-67.

A Ternary Quadratic Diophantine Equation  $x^2+y^2=65z^2$ 

- 9. M.A.Gopalan, S.Vidhyalakshmi and A.Kavitha, Oberservations on the hyperboloid of two sheets  $7x^2 3y^2 = z^2 + z(y x) + 4$ , *International Journal of Latest Research in Science and technology*, 2(2) (2013) 84-86.
- 10. M.AGopalan, S.Vidhyalakshmi and T.R.UshaRani, On the ternary quadratic Diophantine equation  $6(x^2 + y^2) 8xy = 21z^2$ , *Sch. J. Eng. Tech.*, 2(2A) (2014) 108-112.
- 11. K.Meena, S.Vidhyalakshmi, M.A.Gopalan and I.K.Priya, Integral points on the cone  $3(x^2 + y^2) - 5xy = 47z^2$  Bulletin of Mathematics and Statistic Research, 2(1) (2014) 65-70.
- 12. M.A.Gopalan, S.Vidhyalakshmi and S.Nivetha, On the ternary quadratic equation  $4(x^2 + y^2) 7xy = 31z^2$ . *Diophantus J. Math.*, 3(1) (2014) 1-7.
- 13. K.Meena, S.Vidhyalakshmi, M.A.Gopalan and S.A.Thangam, Integer solutions on the homogeneous cone  $4x^2 + 3y^2 = 28z^2$ , Bulletin of mathematics and Statistic Research, 2(1) (2014) 47-53.
- 14. M.A.Gopalan and S.Vidhyalakshmi, On the ternary quadratic Diophantine equation  $8(x^2 + y^2) 15xy = 80z^2$ , *BOMSR*, 2(4) (2014) 429-433.
- 15. S.Devibala and M.A.Gopalan, On the ternary quadratic Diophantine equation  $7x^2 + y^2 = z^2$ , International Journal of Emerging Technologies in Engineering Research, 4(9) (2016).
- 16. M.A.Gopalan, S.Vidhyalakshmi, A.Kavitha and D.MaryMadona, On The Ternary Quadratic Diophantine equation  $3(x^2 + y^2) 2xy = 4z^2$ , International Journal of Engineering Science and Management, 5(2) (2015) 11-18.